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HARYANA SSC MOCK TEST - 37 (SOLUTION)

1. (©) 26. (A) 51. (A) 76. (B)
2. ©) 27. (B) 52. (A) 77. (B)
3. (D) 28. (D) 53. (C) 78. (C)
4. (B) 29. (B) 54. (B) 79. (C)
S. (A) 30. (B) 55. (C) 80. (D)
6. (B) 31. (A) 56. (D) 81. (C)
7. (A) 32. (B) 57. (D) 82. (B)
8. (B) 33. (C) 58. (B) 83. (B)
9 ©) 34. (B) 59. (B) 84. (A)
10. (C) 35. (C) 60. (B) 85. (A)
11. (©) 36. (B) 61. (D) 86. (A)
12. (C) 37. (A 62. (C) 87. (C)
13. (A) 38. (D) 63. (A) 88. (A)
14. (D) 39. (B) 64. (D) 89. (B)
15. () 40. (C) 65. (A) 90. (B)
16. (A) 41. (B) 66. (D) 91. (D)
17. (B) 42. (B) 67. (D) 92. (A)
18. (C) 43. (D) 68. (B) 93. (C)
19. (©) 44. (D) 69. (A) 94. (A)
20. (A) 45. (B) 70. (A) 95. (B)
21. (A) 46. (D) 71. (C) 96. (A)
22. (B) 47. (C) 72. (B) 97. (B)
23. (D) 48. (B) 73. (B) 98. (A)
24. (C) 49. (C) 74. (C) 99. (B)
25. (D) 50. (D) 75. (A) 100. (A)
Explanation:
41. (B) Except (B) all are part of character. 48.(B) N S
NW | NE ® W
42.B) A G L P S U V
L6 AL+5 M M3 M2 M1 4 A% E 5 SE NW
43. (D) Reader read Newspaper. SW SE E N
Similarly Baker buy Bread. S NE
44.(D) FLOWER North-west becomes South.
valval +4) +a| 4| 4 49.(C) 90+ 18 x 6+ 30— 4
JP SAIV =56
Similarly, 50. (D) Since, the only son of the mother of
CURTA I N Deepak, is Deepak, therefore, the photo
+4\L+4\l'+4 S +4\l/+4l' belongs to Deepak's son.
GYVXEMR
45. (B) Dlzease Do;tor D1ag2n51s Medslcme 51. (A) Required answer = 10000 x éx 1OOIDSIOO
Cure =5
1 52. (A) According to question.
46. (D) aabbccaabbccaabbcec
47. ((C)) Lp20 0 1 unit profit
SP 21
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1
0 fit = — x1 D _ 200
o profit = 55 x100 56. (D) Speed = = U—— m/sec
T 24
=5%
1 1 200 18 km/h
= — X —
53.(C) x= 3y andy = ;2 24 ~ 5 SWM/AT
= 30 km/hr
3x=yand 2y =z
. . 8 7 11 14
x:y y:z 2 _ L Rl L
' ' 57. (D) 55 0.32,23 0.304,23 0.478, 53 0.264
1:3 1:2
xX:y:z 14
1 3 3 So, smallest fraction is 53
112 58.(B) HCF = 16, LCM = 160
1:3:6 1st number = 32
54. (B) Let number is 9x and 7x let 2nd number = x
9xx 7x=1575 Product of number = LCM x HCF
63x* = 1575 32 x x=16 x 160
_ 1575 160 060
63 x= 3—2 =80
x :525 59. (B) HCF of fractional number is
xX=
smallest number = 5 x 7 = 35 _ _ Hcf of numerator
55. (C) 18 (Total work) LCM of denominator
A—> 6|3 2 2

30507 105
60. (B) To successive discount of 70% & 30%

B—> 9|2

Work efficiency of (A+B) =3 +2 =35

(A+B) complete the whole work in =70+ 30 - 70155)0
Total work 18 100 - 21 = 79%
- Efficiency ~ 5 3.6 days

Note:- If you face any problem regarding result or marks scored, please
contact 9313111777

Note:- If your opinion differs regarding any answer, please message the mock
test and question number to 8860330003
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